



St. Louis County, Minnesota

Date of Report: 4/27/2025 1:08:21 AM

**General Details** 

 Parcel ID:
 510-0020-03850

 Document:
 Abstract - 408243

 Document Date:
 02/10/1986

**Legal Description Details** 

Plat Name: PORTAGE

Section Township Range Lot Block

25 66 17

**Description:** LOT 2 EX W1/2

**Taxpayer Details** 

Taxpayer NameOBERG LAWRENCE A ETUXand Address:TIMBER WOLF POINT RESORT

7079 ECHO TRAIL BUYCK MN 55771

Owner Details

Owner Name OBERG KATHLEEN J
Owner Name OBERG LAWRENCE A

Payable 2025 Tax Summary

2025 - Net Tax \$5,218.00

2025 - Special Assessments \$450.00

2025 - Total Tax & Special Assessments \$5,668.00

**Current Tax Due (as of 4/26/2025)** 

Due June 2		Due October 15	•	Total Due		
2025 - 1st Half Tax	\$2,834.00	2025 - 2nd Half Tax	\$2,834.00	2025 - 1st Half Tax Due	\$2,834.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$2,834.00	
2025 - 1st Half Due	\$2,834.00	2025 - 2nd Half Due	\$2,834.00	2025 - Total Due	\$5,668.00	

**Parcel Details** 

Property Address: 7081 ECHO TRL, ORR MN

School District: 2142
Tax Increment District: -

Property/Homesteader: OBERG, LAWRENCE A & KATHLEEN J

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)											
201	1 - Owner Homestead (100.00% total)	\$205,300	\$292,200	\$497,500	\$0	\$0	-				
221	0 - Non Homestead	\$45,100	\$53,300	\$98,400	\$0	\$0	-				
	Total:	\$250,400	\$345,500	\$595,900	\$0	\$0	5461				





St. Louis County, Minnesota

Date of Report: 4/27/2025 1:08:21 AM

**Land Details** 

 Deeded Acres:
 14.89

 Waterfront:
 ECHO

 Water Front Feet:
 1097.00

 Water Code & Desc:

 Water Code & Desc:

 Gas Code & Desc:

 Sewer Code & Desc:

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

	Improvement 1 Details (OFFICE)								
ı	Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.		
	HOUSE	0	33	6	336	-	RAM - RAMBL/RNCH		
	Segment	Story	Width	Length	Area	Founda	ition		
	BAS	1	14	24	336	POST ON G	GROUND		
	OP	0	12	24	288	POST ON G	GROUND		
	Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC		

0.0 BATHS - - STOVE/SPCE,

Improvement 2 Details (SPRING)									
Improvement Typ	е	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc		
HOUSE		0	21	6	216	-	CAB - CABIN		
Segme	ent	Story	Width	Length	Area	Foundat	ion		
BAS		1	12	18	216	POST ON GR	ROUND		
SP		1	4	8	32	POST ON GR	ROUND		
Bath Count		Bedroom Co	unt	Room (	Count	Firenlace Count	HVAC		

0.75 BATH - - STOVE/SPCE, GAS

			Improve	ment 3 De	etails (SPRUC	E)	
li	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	HOUSE	0	21	216		-	CAB - CABIN
	Segment	Story	Width	Length	Area	Found	ation
	BAS	1	12	18	216	POST ON (	GROUND
	SP	-		8 32 Room Count		POST ON (	GROUND
	Bath Count					Fireplace Count	HVAC
	0.75 BATH	-		-		-	STOVE/SPCE, GAS

Improvement 4 Details (ECHO) Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft 2 **Basement Finish** Style Code & Desc. 576 HOUSE 0 576 CAB - CABIN Story Width **Foundation** Segment Length Area 24 POST ON GROUND BAS 24 576 SP 0 8 16 POST ON GROUND 128 **Bath Count HVAC Bedroom Count Room Count Fireplace Count** 

0.75 BATH

STOVE/SPCE, GAS





St. Louis County, Minnesota

Date of Report: 4/27/2025 1:08:21 AM

	Improve	ment 5 D	etails (VIKING	i)	
Year Built	-		•	•	Style Code & Desc.
0	529	9	529	-	CAB - CABIN
Story	Width	Length	Area	Foundat	ion
1	23	23	529	POST ON G	ROUND
0	8	16	128	POST ON G	ROUND
Bedroom Cour	nt	Room (	Count	Fireplace Count	HVAC
-		-		· -	STOVE/SPCE, GAS
In	nproveme	nt 6 Deta	ils (TRAPPEN	-VA)	
Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
0	384 384		=	CAB - CABIN	
Story	Width	Length	Area	Foundat	ion
0	POST ON G	ROUND			
Bedroom Cour	nt	Room (	Count	Fireplace Count	HVAC
-		-		•	STOVE/SPCE, GAS
l:	mprovem	ent 7 Det	ails (VOYAGE)		
	•		•	•	Style Code & Desc.
		-	CAB - CABIN		
nent Story Width Length Area		Foundat			
•	1 18 48 864				
<u> </u>				HVAC	
-			Journ	•	STOVE/SPCE, GAS
		1001	"		
	-		•	•	
			Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	576	6	576	-	-
Story					
1	24	24	576	POST ON GI	ROUND
	Improvem	nent 9 De	tails (STORAG	iE)	
Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
0	193	2	192	<del>-</del>	-
Story	Width	Length	Area	Foundat	ion
1	12	16	192	POST ON G	ROUND
lm	provemer	nt 10 Deta	ails (GENER B	LDG)	
Year Built	-		•	Basement Finish	Style Code & Desc.
				-	-
				Foundat	ion
-		_			
	-			•	
				Basement Finish	Style Code & Desc.
				-	-
Story	Width	Length		Foundat	
					011110
1	12	24	288	POST ON GI	ROUND
			etails (MTR/FIS		ROUND
	Story  1 0 Bedroom Coun - Im Year Built 0 Story 1 Bedroom Coun - In Year Built 0 Story 1 Bedroom Coun - Im Year Built 0 Story 1	Year Built 0 52  Story Width 1 23 0 8  Bedroom Count  Improveme Year Built Main Flo 0 38  Story Width 1 16 0 4  Bedroom Count  Improveme Year Built Main Flo 0 86  Story Width 1 18  Bedroom Count  Improveme Year Built Main Flo 0 86  Story Width 1 18  Bedroom Count  Improveme Year Built Main Flo 0 57  Story Width 1 24  Improveme Year Built Main Flo 0 19  Story Width 1 12  Improvemer Year Built Main Flo 0 19  Story Width 1 12  Improvemer Year Built Main Flo 0 10  Story Width 1 12  Improvemer Year Built Main Flo 0 10  Story Width 1 10  Improvemer Year Built Main Flo 0 10  Story Width 1 10  Improvemer Year Built Main Flo 0 10  Story Width 1 10	Year Built	Nain Floor Ft 2	Story   Width   Length   Area   Foundat





St. Louis County, Minnesota

Date of Report: 4/27/2025 1:08:21 AM

STORAGE BUILDING	ORAGE BUILDING 0 113		113 -		-	
Segment	Segment Story		Length	Area	Foundation	
BAS	1	7 7		49	POST ON GROUND	
BAS	1	8	8	64	POST ON GROU	JND

	Improvement 13 Details (RESIDENCE)										
	Improvement Type	e Year Built Mair		ain Floor Ft 2 Gross Area Ft		Basement Finish	Style Code & Desc				
	HOUSE	2007	3,10	02	6,204	U Quality / 0 Ft <sup>2</sup>	1S+ - 1+ STORY				
	Segment	Story	Width	Length	Area	Founda	ition				
BAS Bath Count		BAS 2 0		0	3,102	WALKOUT BASEMENT					
		Bedroom Co	Bedroom Count		Count	Fireplace Count	HVAC				
3.5 BATHS 3 BEDROOMS		ИS	-		-	CENTRAL, WOOD					

Improvement 14 Details (STORAGE)									
Improvement Type Year Built		Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.			
LEAN TO	0	308	8	308	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	0	14	22	308	POST ON GF	ROUND			

#### Sales Reported to the St. Louis County Auditor

No Sales information reported.

	Assessment History											
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity					
	201	\$205,300	\$292,200	\$497,500	\$0	\$0	-					
2024 Payable 2025	221	\$45,100	\$53,300	\$98,400	\$0	\$0	-					
-	Total	\$250,400	\$345,500	\$595,900	\$0	\$0	5,461.00					
	201	\$205,300	\$306,800	\$512,100	\$0	\$0	-					
2023 Payable 2024	221	\$45,100	\$65,800	\$110,900	\$0	\$0	-					
·	Total	\$250,400	\$372,600	\$623,000	\$0	\$0	5,706.00					
	201	\$189,400	\$257,500	\$446,900	\$0	\$0	-					
2022 Payable 2023	221	\$41,600	\$55,300	\$96,900	\$0	\$0	-					
·	Total	\$231,000	\$312,800	\$543,800	\$0	\$0	4,954.00					
	201	\$189,400	\$257,500	\$446,900	\$0	\$0	-					
2021 Payable 2022	221	\$41,600	\$55,300	\$96,900	\$0	\$0	-					
-	Total	\$231,000	\$312,800	\$543,800	\$0	\$0	4,954.00					

#### **Tax Detail History**

Tax Year	Tax	Special Assessments	Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV
2024	\$5,912.00	\$450.00	\$6,362.00	\$250,400	\$372,600	\$623,000
2023	\$5,312.00	\$450.00	\$5,762.00	\$231,000	\$312,800	\$543,800
2022	\$5,922.00	\$450.00	\$6,372.00	\$231,000	\$312,800	\$543,800





St. Louis County, Minnesota

Date of Report: 4/27/2025 1:08:21 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.